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2. QA H 88 2,900 2,600 300
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3. 47185 5,400 5,400 0
4. A g 1,000 1,000 0
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6.1 780 980 =200 #&]edH] : 40,0009 #(-53] )= =200, 000
7. 3F Y B A H] 300 100 200 | FESIH] ¢ 50,0009 x4F+13]= 200,000
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9. ] FT-4H 2,400 1,200 1,200 A RA 1,200,000 x12)= 1,200,000
3. WA AJNE & 2,100 7,400 -5,300
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1LIx]FT8aTLAATF 20,016 20,016 0
147188 12,000 12,000 0
2. 4R 1,260 1,260 0
3EETeT 6,756 6,756 0
2. [N LY 15,989 16,100 -111
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LFAATEESHE 1 99,0009 %(-9¢Y )= -891,000
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EAZ] 500,000 18 A]#13]= 500,000
3. [Z1A A dnkate 33,274 23,774 9,500
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SR @ AR 500,000 #13]= 500,000
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FEHLYEFE 1 100,0009#(-7F)= =700, 000
4. [ZIAZEEE L e 19,540 18,586 954
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